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Practice Test. Probleme de matematică distractivă
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7. Given a circle with center 0 and diameters AB and CX such that OB = BC. What
portion of the area of the circle is shaded?
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1. Which of these definitions are correct?

1. mortgage — money borrowed, usually from a bank, to purchase property
2. grant — money given by the government or organisation for a particular purpose
3. pension — money charged by a lender to a borrower

4. deposit — money paid to get an arrested person out of police custody
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2. Which of these words is spelled incorrectly?
A)annually  B)bizare  C) publicly D) playwright E) tendancy
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3. Can I change this red blouse ... a pink one, please?
A) with B) for Oto D)in E) into
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4. Which of these sentences is grammatically incorrect?
A) Whoever is at door, they can’t come in right now.
B) If you say things like that, of course people will avoid you.
) Were I smarter, I would have noticed the mistake.
D) They have requested that we be there carly tomorrow morning.
E) They would rather not travelled all this way.
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5. Two positive numbers a and b are such that 75% of a equals 40% of b. This means
that

A)15a=8b B)7a=8 C)3a=2b D)Sa=125  E)Ba=15b
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6. Abar consists of 2 white and 2 grey cubes glued together such that the result is a
4x 1 1 bar with 2 white cubes on one end and 2 gray cubes on the other end.
Which figure can be built from 4 bars?




